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Question paper comprises five Sections— A B, C, D and E. There are 32 questions in the question paper.
All questions are compulsory.

Bection A — Question me. 1 to 16 are Ohjective Type Questions of 1 -u'kuch

* Bection B — Question ne. 17 ta 22 are short answer type questions, carrying 3 marks each. Answer to

each question should not exceed 80 words.
Saction C — Question no. 23 to 26 are source based questions, carrying 4 marks each,

Bection I - Question no. 27 to 31 are long answer type questions, earrying b marks uﬂ.ﬂmnru
each question should not exceed 120 words.

Bection E — Question no. 32 is map based, carrying 5 marks with twe parts, 32 {l]i'IIW
(2 marks) and 32 (b) from Geography (3 marks).

There i3 no overall choice in the quuiun paper. However, an internal cheice has been pﬂﬂhd in fow |
questions. Only ore of the choices ix such questions have to be attempied.

In addition to this, separate instructions are given with sach section and question, wherever necessary.

Section A : Objective Type @uesﬁuns' (1 Mﬂi’k} |

1. National Waterway ne. 1 is from ..o 3. Thefemale form was chesen to persofiify
wobehiatdedly (8 ‘i the nation did not stard for any particular
(a) Sadiva to Dhubri woman'in real life, it sought to give the
(b) Kottapuram to Komman | absirget idea of the nation a conerete
(c) ;]uhﬂ 1o Haldia (d) None of these form and it is known as .............-of the
. Cheese the ecerrect option from Column natomn. =

Iand1l 4. Power sharing is good because it helps to
T Colamal| Colmenl . reduce the possibility of conflict between
(a) Bajra |() OldAlwwialssd U7
{b) Cotton |(i) Black seil Or Sri l.a:lh passed an act to recognise
() Maise |(ii) Well drained fertile soil .. as the only official language.
(dy Jute {iv) ﬂu Shallow black seil :
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5. Cerrect and rewrite.

Natienal Rural Empleyment Guarantee
Aet would apply te a company such as
Tata Iren and Steel company.

@r Gress National Happiness (GNH) of a
ceuntry is the sum ef the value of all
final geods and services preduced in all
the three secters in a particular year.

6. State an example how rich and poer
have cenflicting goals of development.

@r Dehine the term Literacy rate.

1. Whe erganised the Dalits inte the
Depressed Classes Association in 19307

©r When was the Second Round Table
Cenference held?

8. Censider the following statements

regarding the measures taken by civil
code of 1804.

. It is based on privileges by birth.
I1. It establishrd equality before the law.
I11. It secured the right te preperty.

Choose the right eptien.

(a) Omly | .
(b) Beth IT and II1

(c) Bath I and I1

(d) All of the above

9. Find the incerrect eptien :

{a) The Fremch revelution eccurred im 1789.
() Nepoleon invaded Dwaly in 1761.
(c) Nepeleonic code was intreduced in 1804.
(d) Greece gained independence in the

vear 1832.

10. In the question given below, there are
two statements marked as Assertion (A)
and Reason (R). Read the statemenis
and cheese the correct option.

Assertion (A) Currency is considered te
be impertant fer a country.

Reason (R) Currency gives nation a
purchasing pewer and facilitates trade.
Codes :

{a) Both A and R are true and R is the correct

explanation of A

(b) Both A and R are true, but R is net the
correct explanation of A

(c) Ais true, but R is false

id) A is false, but B is true

11. When pewer is taken frem the State
governments and is given te lecal
government, it is called

(a) Decemtralisation (b) Privatisation
{c) Panchayat Samiti (d) Federalism

12. Complete the following table with cerrect
infermatien with regard te cultivation of
wheat.

Annual | Crepping | Tempersture required
Wheat rainfall | scasem for its growth (in *c)
required

a B.-2?

13. Find out the essential element of a
pelitical party.
(a) Organisation
i) MNatienal interest

(c) Fundamental principles
(d) All of the above

14. Identify the institute of decentralisation
threugh the given features.

* The Panchavat werks under it.

* All the veters in the village are its members.
* It has to meet at least twice as thrice in a

year te appreve the annual budget of
Panchayat.

* It reviews the perfermance of the'Gram
Panchayat.

15. Arrange the following in the cerrect
sequence. i -

(i) Identifieation and inventery of
resourees
(i) Planning fer reseurce development
(ifi} Matching the reseurce
Codes

(&) (i), (iii), (i1) (b} (ii), (iii), (i)
(c) (i}, (i), (iid) () (iiid, (id). (D

16. The early phase of globalisation invelved
export of raw material frem celonial
couniries such as India and impert of
finished preducts frem industrially
developed Eurepean countries and
the USA,

Analyse and select the option that leads to
the change in the esenemy in 20th century.
(a) Human Pevelopment Index

() Werld Trade @rganisation

(e} Multinatienal Corperatien
(d) Infermatien and Comme'nicatisn Technelogy
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17.

18.

19.

Section B : Shert Answer Questions (3 Marks)

Justify that teurism as an industry has a @ Why salt was chesen as a weapen by 5
bright future in India by giving three Gandhiji te fight against the Britishers:
pents. ~ 20. Shalini insists te her friend te carry jute
How does the Reserve Bank of India bags for shopping. How will it help the
(RBI) supervise the functiening ef jute industry and alse impreve the
banks? Is it necessary? eavirenment?
Credit also has a negative rele which is 21. What de yeu understand by the pelicy of
more commen in rural areas. Justify the accornmedatien?
statement. :

: : ; : 22. Asacitizen of a demecratic country, what
Describe the achievements of Pr Bhim is your expeclatiens frem the pelitical
Rao Ambedkar with reference te the system?

Pepressed Classes Assoeiation (1930).

Section C : Source Based Questions (4 Marks)

. Read the seurce and answer the fellewing questions.

As the news of Jallianwalla Bagh spread, crowds teok te the streets in many north Indian tewns.
There were strikes, clashes with the pelice and asacks en gevernment buildings. The
government responded with brutal repression, seeking to humiliate and terrerise people:
satyagrahis were forced to rub their noses on the ground, crawl on the streets, and do salaam
(salute) to all sahibs: people were flogged and villages (areund Gujranwala in Punjab, new in
Pakistan) were bembed. Seeingvielence spread, Mahatma Gandhi called off the movement.

While the Rowlatt Satyagraha had been a widespread movement, it was still limited mostly te
cities and towns. Mahatma Gandhi new felt the need te launch a mere broad-based movement in
Indiz. But he was certain that ne such mevement could be erganised without bringing the
Hindus and Muslims cleser together. One way of deoing this, he felt, was to take up the Khilafat
issue.

The First World War had ended with the defeat of @ttoman Turkey. And there were rumours that
a harsh peace treaty was going 1o be imposed on the @uoman emperor - the spiritual head of the
Islamic world (the Khalifa). To defend the Khalifa's temporal pewers, a Khilafat Committec was
formed in Bombay in March 1919, A young generation of Muslim leaders like the brothers
Muhammad Ali and Shaukat Ali, began discussing with Mahatma Gandhi about the possibility of
a united mass action on the issue.

Gandhiji saw this as an oppertunity te bring Muslims under the umbrella of 2 unified national
movement. At the Calcutta session of the Congress in September 1920, he convinced other
leaders of the need to start a Non-Cooperation Movement in suppert of Khilafat as well as for
Swara).

(i) Which of the following statements (ii) Idemtify the reasen te launch a mere
correctly describe the governments broad based movement by Gandhiji.
response against the agitation ia} Rowlati Satyagraha was limited 1o sities
developed after Jallianwala Bagh and towns.
incident? () F.llwl:: Hl't}m:ip'lhli was participated by

on ucal .
(s) Pesple were tarrarised. ic) Rl-"LIH Suym was dominated by

{(b) People were brutally repressed. - . .
(c) People were humiliated and forced 1o d) ;]T: : :f"lI:l hm:h“ Indisas.
salute all Englishmen.
(d) All of the above
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24,

25.

(iii) Why was Khilafat clmmlttee fermed (iv) Gandhiji wanted te start a Nen-

in 19197 Coeperation Meovement im 1920 because

{a] Muslims had ne palivcal asseciation, (a) He wanted 1o teach Britishers a lesson,

(b} Muslim leadership emerged this (b) He wanted te introduce liberal views in
time. Indian freedom mevement.

(c) Toe defend the Khalifa's temporal (c) He saw there was an opportunity te bring
POWELS. Muslims under the umbrella of a united

(d) Nene of the above natienal mevement

(d) Both (b) and (c)

Read the seurce and answer the fellowing questions.

Laterite has been derived fram the Latin werd ‘later’ which means brick. The laterite seil
develops under wepical and subtrepical climate with alternate wet and dry seasen. This seil is
the result of intense leaching due to heavy rain. Laterite soils are mostly deep ta very deep acidic
{(pH < 6.0) generally deficient in plant nutrients and eccur mestly in Seuthern states, Western
Ghats region of Maharashtra, @disha, some parts of West Bengal and Nerth-East regions, where
these seils suppeort decidusus and evergreen forests. It is human rich, but under sparse
vegetation and in semi-arid environment, it is generally humus poeer. They are prone te eresion
and degradation due to their position on the landscape. After adopting apprepriate soil
conservation techniques particularly in the hilly areas of Karnataka, Merala and Tamil Nadu, this
soil is very useful fer growing tea and coffee. Red Laterite soils in Tamil Nadu, Andhara Pradesh
and Kerala are mere suitable for crops like cashew nut.

(i) The ather name of laterite sail is (iii) Laterite soils support which type of
which of the following? ferests?
(a2} Cotton sail (b) Brick sail . {a) Deciduous ferests  (b) Evergreen forests
(c) Red swil {d) Regur seil (c) Moumtain forests  (d) Both (a) u.u! {b)
(ii) The laterite seil develops under (iv) Red laterite seils in Tamil Nadu, Andhra
which type of climate? Pradesh and Kerala are mere suitable for
(a) Tropical climae which type of crep?
(b) Sub-trepical climate {a) Sugarcame i (B) Cotton i
(c) Temperate climate : (c) Rice (Paddy) (d) Cashew nut

{d) Bath{a) and (b)

Read the seurce and answer the foellowing questions.

Basically pelitical parties fill pelitical effices and exercise political pewer. Parties do se by

pcrilrnml a series of functions:

* Parties cenmtest electiens: In mest demecracies, elections are feught mainly ameng the
candidates put up by pelitical parties. Parties select their candidates in different ways. In some
countries, such as the USA, members and supperters of a party cheese is candidates. Noew mere
and mere couniries are fellowing this methed. In ether countries like Imdia, top party leaders
cheese candidates for cantesting elections.

* Parties put ferward different pelicies and programmes and the veters cheese frem them. Each of
us may have different epinions and views on what pelicies are suitable for the seciety. But ne
governmeni can handle such a large variety of views. In a demecracy, a large number of similar
epiniens have te be grouped together te provide a direction in which pelicies can be lormulated
by the governments. This is what the parties de. A party reduces a vast multitude of epiniens inte
a few basic pesitions which it supperts. A goevernment is expected to base its policies on the line
taken by the ruling party.

* Parties play a decisive rele in making laws for a country. Formally, laws are debated and passed
in the legislature. But since most of the members belong te a party, they go by the direction of the
pariy leadership, irrespective of their personal epiniens,

* Parties ferm and rum gevernments as we noted last year, the big pelicy decisiens are taken by
pelitical executive that comes from the pelitical parsies. Parties recruit leaders, wain them and
then make them ministers te run the gevernment in the way they want.
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26.

« These parties that lese in the elections play the rele of oppesitien te the parties in power, by
veicing different views and criticising government for its failures or wrong pelicies. @ppeosition
parties alse meobilise epposition te the government.

* Parties shape public epinien. They raise and highlight issues.

« Parties provide peeple access to government machinery and welfare schemes implemented by
gevernments. .

(i) Which methed is mere popular in USA
te cheese a candidate for a pelitical

party?

{d) President suggests which are te be
accepted as policies.

(iii) Fer making a law, members of the

{a) Members and supperier of a pary
choose candidates.

(b) Party leaders chosse candidates.

(c) Members of impoartant business
erganisatiens choese candidates.

legislature ge by the

ia) direction of the party leadership
(k) their persenal cheice.

{c) direction of the President

{d) Both (a) and (c)

{d) Mene of the above

{(ii) In demecracy hew the peolicies can be
fermulated by the governments?
(a) From a large number of opinions, best

are selected.

{b) Party reduces a large number of
opinions inte some basic principles.
(c) Primie Minister selects the pelicies.

(iv) @ppesition partics can play their rele
{a) by veicing different views from the
ruling party.

(b) by criticising gevernments for its
fmilures or wrong pelicies.

{c} by mebilising eppesition te the
government.

(d) All of the above

Read the source and answer the following questions.

@ver the forty years between 1973-74 and 2013-14, while preduction in all the three sectors has
increased, it has increased the mest in the tertiary secter. As a result, in the year 2013-14, the
tertiary sector has emerged as the largest preducing secter in India replacing the primary secier.
Why is the tertiary seetor becoming so impertant in India? There could be several reaspns. First,
in any ceuniry several services such as hespitals, educational institutions, pest and telegraph
services, police stations, courts, village administrative offices, municipal corperations, defence
wranspert, banks, insurance companies, etc. are required. These can be considered as basic
services. In a developing country the gevernment has to take respensibility for the preyisien of
these services.

Second, The development of agriculture and industry leads te the development of services such
as wansport, trade, storage and the like, as we have already seen. Greater the development of the
primary and secondary sectors, mere would be the demand for such services. Third as income
levels rise, certain sections of people start demanding many more services like eating out,
tourism, shopping, private hospitals, private schools, professional training etc. You can see this
change quite sharply in cities, especially in big cities. Fourth, ever the past decade or so certain
new services such as these based on information and communication technelogy have become
impertant and essential. The production of these services has been rising rapidly.

(i) "The source given abeve relates te
which ef the fellowing optiens?
{a) Primary sector

(iii) Accerding te the source given above, the
basic services are
{a) Post and telegraph services, hospital,

(b) Tertiary sector wanspori
{c) Quinary sector (k) Educational institutiens, pelice station,
(d Seecondary secter delence

{c) Banks, municipal cerperatiens,
insurance companies

(d) All of the abave
(iv) The preduction of which econemic

(ii) @ver the forty years between 1973-74
and 2013-14, the preductien has
increased the most in which sector of

econemy? - gt
(a) Primary (b) Secendary ::;“5"' - ::"'“‘:"'" i
{e) Tertiary (d} Nene of thes= Y
(c) Terviary (d) Neone of these
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27.

28.

29,

32.

Section D: Leng Answer Questiens (5 Marks)

“Advancement of international wade of 30. There are a number of facters which

a country is an index of its econemic enabled globalisation in India. Explain
presperity.” Justify the statement with these facters,

five arguments. @r On what basis can yeu say that

What changes did Napeleon intreduce v globalisation and the pressure of

te make the administrative system more cempetition have changed the lives of
efficient in the territories ruled by him? workers substantially. Give reasens for
What were its results? this.

The three sectors of economy are . Why de we have a muhi-party system in
interdependent en each ether. Explain India? What are its ﬂ“m‘ll:“? .
with suitable examples. @r The political parties are still in the grip of
Distinguish between the primary seeter some serious challenges. Explain.

and secondary secter by giving five
poeints of distinction.

Section E : Map Based Question (5 Marks)

(a) Mark and lecate the following on the map of India. a

(i) A place asseciated with the cotton mill werkers' satyagraha.
(ii) The place where an incidemt eccurred due te which Mahatma Gandhi called off th
Non-cooperation Movement.

(b) On the same outline map of lld."ll_, identify any three features with suitable

symbeols : (1
(i} A dam in Rajasthan {ii) A seil type
(iii) A software technology park {iv) A sea port %

(v) An international Airpert

=] [
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1.
12.
13.
14.
I5.
I6.
17.

()

()

Answers

c) Alahabad te Haldia

(b) Calten - i Black seil

alegory _

Social greups ar Sinhala

Matisnal Rural Empleymant Buaranies Act would

not apply to & company such as Tata Iren and Steel

COMmpany.

Gress Demestic Preduct (GBPP) of a ceuntry is the
sumn of the value of all final geeds and services
preduced in all the three secters in a particular
year,

The rich and peor have cenllicting geals of
development, for axample, industrialists for their
electricity reguirement may want mare dams, b

that may displace poor people in the surmoundings.

Thus, peer people do not want dams.

Literacy rate is a prepertion of the papulatien of an
area at a particular ima which includes age group
of 7 years or above, who can read and wrile wilh
understanding. )

Br BA Ambedkar organised the Dalits inte
Depressed Classes Association in 1930,

The Secend Reound Table Cenference was held in
Decemiper 18931,

(i) Both (11} and (1il)
(b) Napeleen invaded italy in 1761,

(a) Both A and R are true and R is the comect
expianation of A

(&) Decenivalisation

A Rabi, B. 10°-15°C

Al of the above

Gram Sabha

) (). (), (i

) Multinational Carparatian

Tewism as an industry has a bright fulure in India
due te the following ressons:
Economic and Political Stabllity The ecenamic

and political stability and grewth ef India has played

a major rele in the development of the taurism
gector within the eeuntry. A slable political climate
triggers mere Foreign Direst Investment (FBI) in
tourism and other suppar senices.

Efficlent Communication Netwerk India has a
very widespread and efficient nebwerk of ranspan
and cemmunicatiens, whieh helps in grewth of
lourigm.
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Pool of Skilled Workers India has a large pael of
camguier ilerate skilled warkers in the feunsm
industry, whese dealing with tha teurisis has made
the teurists get & happy expenence while teuring
the cauniry,

. The Baserva Bank of India is India's central

banking instriutien which centrals the manean

palicy af india. Thraugh the fellawing ways the

Reserve Bank af India (RBI) supervises the

funcliening of banks:

» The Reserve Bank of India cheeks that the banks
actually maintain a minimum sash balance aul o
the depesits they reseive (curmantly this is 15%).

s The banks have to perodically sulbmit
infermation te the Reserve Bank of India an haw
much they are lending, (@ whem, at whal mnlerast
rate, sic. Thus, the Reserve Bank of India
ensures that the banks give loans nat just to
prafil-making businesses and Iraders, but alse o
small cultivaters and ether small berrewers

This supervisien | neaassany to ensure that small
businesses alse grow, besides others. Further,
this menitering ensures that banks do not loan
mere meney than they are suppesed 1o, as such
an action can creale a crigis, siluation.

Credit alze has a negative role when it resulis in
fermatien of a circle er a trap known as debl-trap
Debt-trap is a situation in whieh a person after
laking a loan is not able to pay back the lean and
takes a fresh loans. It is mere comman in rural
areas because.

+ A bgmower INes o repay’ a loan by saling the
agricufiural predues, but it may net be enaugh to
répay the antiré lean,

+ PRural bormowears normally depend an infermal
gourcas of eradil wha charge a high rale of
intarest. This repayment of larger amounts may
sometimes be larger than their ingame.

Thus, it can be said tha! credit alse has a negative

rale which laeads (o depi-rap and even more

pavarty than before.

Br Bhim Ras Ambedkar erganised the Dalits inte
the Depressed Classes Association in 1980. His
achisvements wens .

» Ambedkar believed that only political
empowerment would resele their problems of
social injusties. Bue 10 his afforts, Dalits began
organising themselves, demanding resene seals
in educational institutions and separate
eleciorates



(m)

(i)

20.

21,

22,

= Armbediar was neminated as a delegate of the
oppressed clagses for the Second Reund Table

Cenference. In tha! cenlerence he had cenirentatien
with Mahatrma Gandhi as he demanded separate

electerate for dalits.

« Ambedkar accepted Gandhiji's pesitien and signed

Poona Pact in 1932 which gave the depressed
classes reserved seals in pravincial and Central
Legislative Ceuncils.

Salt was chesen as a weapen by Gandhiji te fight

against the Britishers. The reasen are axplained in

follewing ways:

Sall was semaelhing censumed by the rich and the
poor alike and it was ene of the mest essential items

of foed.

The tax en salt and the gevernment menepaly over is
proguctien, revealed the mast !pprmlw face of the

British rule.

Salt was chesen s as te gave the mevment a wide

ass.
By Shalini and her friend carrying jule bags fas

shapping, they will increase the censumptien of jute
_bags. This, in tumn, will increase the demand for raw

jute fisre required ter manufacturing jute bags.
Agcerdingly, it will help the jule industry, as It will

increase s preduction, earn mere and empley mere

parsans.
In additien, Shalini's rmewve will reduce (he

sensumption of plasic camy bags which are aifficult
te dispese. This will help in developing a sustainalble

means af envirenment censenvatian.

The pelicy of aceenmedation has been fellowed in

Belgium, The Belgium |leaders recognised the
existence of reglenal differences and cultural
diversities.

Therefere, they amended their Censtitutien feur times.
&0 a¢ to work sut an arrangement that weuld snable
everyana to ive together peacefully within the samae
ceuniry, This arangement was knewn as the pelicy of
accammedatien in which the dgesires and interests of

the different cemmunities ware adjusied and
apooTimodaled.

Az a citizen of a demecralic ceuntry, the espectatiens

frarn a demeeratic pelitical system are as follows
+ |n demacracy, peeple sheuld have the nght 1o

cheese thair ruler and they sheuld have senirel aver

the ruler.

« Citizens sheuld nat enly participate in the
deeision-making proasss, but should alse have
rights and the means 1@ examine the prosess of
decisien-rmaking.
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23.

24.

25,

27.
(i

()

(i

()

()

« In demecracy, it is expected that the
government sheuld be attentive ta the needs
and demands of the people. It sheuld alse be
free af comuptian.

[y (d) Al of the abeve
(i) (a) Rewlatt Satyagraha was limited (e cities
and tewns.
(i} {c) Ta defend the Khalifa's temporal pawers.

(W) (c) He saw there was an eppertunily te bring
hMuslims under the urnibralia of a united
national mavarment.

() (o) Brick seil
(i) {d) Beth (a) and (B)
(i) (o) Beth (a) and (b)
() (d) Cashew nut
(i) (a) Membars and suppeorters of a party
choose candidates
(i) (b) Party reduces a large number of
opinians inte seme basic pineiples.
(i) (a) direction of the party leadershp
(v , (d) All of the above

(i) () Tetiary sector

(i) {(c) Tertiary
(i) (@) All of the gbave
() (@) Primary .

This statemaent is justified because of the
follewing arguments:

As every eouniny's resources are [imited, ne
ceuntry can sundve without intemationd! trade.
Goods or resources pessessed by one country
are required by other and viee-versa. These
differences ereate senditians for international
trade.

Fereign trade has helped India @ improve its
preductivity of manufactured goeds.
internatienal trade centributes ie indas
ecenemic growth and raises inceme levels of
pecpe

In recent years, esshange of commadities and
goads have been superseded by the exchange
of infarmatian “!‘ knowiedge.

India has emerged as a software giant at the
internatienal level and it is eaming large fereign
axchange threugh the expert of infarmatien
techneleagy.

Thus, it can be ssnciuded thal advancement of
international wade of a country is an index af its
ECONAMIC propery.

= #



28.

29.

(]

i)

(i)

(i)

MNapeleen intreduced the fellewing changes
e make the agdminisiralive system mone
afficient in the areas ruled by him:

+ He intreduced the Ciil Code of 1804, alse
knewn as the Napeleenic Cede. This code
il away with all privileges based an birth. it
established aquality befere law and secured
tha Right te Property.

« He simpliled administrative divisiens,
abelished the feudal 3ysiem and fresd
peacants fram serfdom and manerial dues.

« In towns, guild systems were remeved.
Transpart and cemmunicatien sysiems werne
improved.

Tha results of these measures anme.

« Pgaszants, artisans, businessmen and
workers enjoyed a new feund lresdem.

+ Businessmen and small-scale preducerns
realised that uniferm laws, & ComMMen
currency and standardised weights and
measures walld faciliiate mevemant and
axchdnge ol goods between different
regiens.

There are three secters in the ecanemy |.e
primary sacler, secendary secter and tertiary
secter. All the three seclers are
interdependeant an each sther,

Somae examples are given 1o elucidate this
fact :

Agricultural activities proguse raw matenals for
agro-pased indusiries and lead for
smployess in secendary and tertiary sectess
It shews the secendary and the service
seciors’ dependency on the primary sSecter.
Industrial activities preduce instruments such
as tracters, fertilisers for agricultural inputs
and increased preductien and preductivity in
agriculture, Hera, the primary sestor depends
BN sacendary secter.

Transpertation facilities are required for
transpertation ofagricultural preducts and
indusirial preducts te the market in rural and
urpan centres. Here, primary and seconadary
secters depend on the tertiary secter.
Indusiral secter preduces rusks, autes eic.
for transperiation as well a5 epmputer assets
fof proper banking astivities and knowledge
sutseurcing. 5o, it shews that hew tertiary
sector depends on secondary sectar.

Se, it is cencluded that all the secters of
scenemy are highly interdependent

@r Painis of distinction petween (ne primary Secter anad

secendary secter are given i the table belew |

Primary Secter Secondary Sector

H mcludes asanamed 0 precessss nafral reseursas
activities inveiving exirachen e make them inie finished or
and production of natural  sem-finished preducis
PEER LI NS

Most of the activiies are

It prenides natural reseLTces It cenvers raw maberias inte
1o the secendary Secter finighed of semi-inished goods.

It is depenident an ihe primany
net dependent an the setor for supply of raw
secondary sechol rratenais,

Graaler gependence on this A shift of ssenamic activities
seciar ingdicales an frarm prrmany be secandany
underdeveloped esonomy.  secter indicales a develaping

BCANSTY,
Agriculiure, mining and Manufactunng and eansirucien
foceatny are its examples. are (s examples.

3@, There are a numbaer ef facters which enabled

(@)

(®)

{c)

globakzation in India. Thes= facters are as follows:

+« Improvernants in technolegy and technical innevatiens
have made globalization pessible. For example, in
transpertatien Wchnelogy, containers are now used fos
the ransperiaken of geeds. This has led te huge,
reduction in cost. Ar transpern has speed up the
transporiation of goods

« Impreverments in telecemmunication faciities areund
the werld and intemel enalbles us to send instan
electrenic mail and talk acress the world at negligiple
cests. |t is an impertani fagter of glabalization.

+ The gevernmant ef India has removed barriers er
restrichens 1@ lrage which were sei earlier. This slep
has snabled geeds and servicas to be exporied and
imperted easily.

« Mutinationals have been allowed 16 381 up facteries
and officas in India. Bue te this, there is grealer

. infegration of preduction and markels acress
souniries

« Juint ventures of MNCs alse have resulied in
globalisation.

It is true that globalisation and the pressure of
cempelitien have changed the lives of warkers
substantially,

This can be explained in the fellowing ways—
Werkers have te work fer leng heurs in pelentially
hazardeus eanditiens ai low wages as companies
ahways try to save their costs. :

Werkaers face an uneertainty in empleyment. Casual
werkers are hireg: en contract when darmand is high and
laid off when demand is lew.

MNS% are prone o shift their centres ef preductian in
aecerdanoe with the benefits they receive frem the
govemment. Thus, when a ganire shifts, sither the
workers are transferred or laid off.
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{d) Many Indian cempaines have clesed down due fo
cempetitien fram MNCs, rendering their werkers
joblass.

Glebalisation has crealed the problems of flexible
employment and tempoarary smpley ment in Marny
cauntries,

In India we have a multi-party system. Hare
governmant is lermad by various parties seming
tegether in a cealitien. india has evalved multi-party
syslem, because the secial and geagraphical
diversity in such a large ceuntry is net easily
abzorbed by two or @ven threa parties.

The advantages of mulli-party system are:
Multi-party systems tend te encourage peaceful
change of gevernmenis. The existence of many

(&)

31.

@r The pelitical parties are still in the grip of seme
serious challenges which are as fellows:

The first challenge is lack of demecracy within
paries. All gver the world, there is a tendency in
palitical parties tewards the coneentration of
pawers in ene or few leaders at the top. Parties do
net keep membership ragisters, do net held
erganisational meetings and de net cenduct
internal elections regularhy.

Tha secend challenge is dynastic successian
whera the tep pesitiens of a parly are always
enjeyed by mambers of gne particulay family.
This trend is harmiul fer ether members af the
party as well as for demecracy. This tendency is
present in semae measures all over the weorld.

()

()

; = (i) The third challenge is abeut the grewing role ef
:m'h;::[""":" 1::': there I”‘ e Pm“““ maney and muscle power in parties which is
i l umnl voled n: p:::r i : specially ebserved during elections. Rich p_unh
““"'“‘l ) "_” et 9 mm ' and companies whe give funds o the parties
: l‘::ﬂr‘t"&ﬁ;ﬂtm :EE::::;‘I'-' i always have a say en the policies and decisiens
uctive ; : of the party.
gevernment. Tive ;m; :"'“:h:"‘ ruling (v} The feurth challenge is thal very eften parties de
party from bessm : ryran ; nat seem to offer a meaningful cheiee 1o the
* Nlallows a variety of interests and apiniens lo enjoy veters, In eur ceuntry, the difference ameng all
peiitieal represantation. _ _ the majer parties an the ecenemic pelicies have
« It provides peopie an opporiunity to make a cheice redueed. Semetimes, the same set of leaders
batween several candidales, : keap shifting fram ane party te anather, thus
+ [t prevides chanee even ta small and lecal parties people have no optien available te tham,
1o flowrish and te be part of the gevernmaent.
32
|
Neida Seftware ) (i) Fecest and
Tachinalsgy Park Meuntainous sols

Chinatrapati
Shivaj Internatsanal
Adrpart (Murrdsai)

{a) () Chaur
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